Singleflex
Olympia

Verlegeplan: Lagerholz und Elastiktrager
Plan for installation: Rigid support and single swing beam

219 9 9 9 9 9 9 9 9 9
438 438 438 - 438 438 { 438 438 438 - 438 —|

i e e e /
/ | wanld/ wan /

|
|
- |— -l - —4— - et - —} - —dot — | — -o;"ﬁ - o 1—4— - — |—Lagerholz/ Rigid support 4500 x 97 x 1600mm or

- —-- =t —o—
T Vi i - ' T T ; I 4000 x 97 x 16mm
& | | | Holzbuus:hruubexi Screw: 4,2 x35mm | Lﬂger‘h'ﬂz{’ Rigid support | ] ‘
~F : f . | N : f f i ~F
[ T L i 4500 — 5 R i '
== s — e = (Db —-—-f - — . — . . — 1. — 4 — - — i — b 1
Il | |“*43894"| ‘ | ELthik?rﬁgerI Single swing beam | | | l |
A ' ' ' ‘ " 4000 ' ' —+ @
/ R | | | | ! |
' / ' ' ~ Elastiktriger/ Single swing beam !
2 | | | ) | g
w uy
] Holzbauschraube/ Screw: '4,2x25mm ] ]
a—— - 4 & 4
ittt e i L@l el b it Bl ol el o bl i e koo o i e e ol e e e e 1
| | | | | |
= " i p " " o
2 A
JeFT e | \ | |
HIET ()| T st e e sy e st = e e ot
5 / i | | | | | | | (g
1219 allllifs HlliE g d y ' ; )
I i ey i A I L I AU
OO U AN e T

Verlegebeginn an der Wand/ Start of the installation at the wall ~ M: 1:10

i s
// Elastiktrager Nr./ Single swing beam No. : 1 // Elastiktrager Nr./ Single swing beam No. : 2, 3,4, 5

441’ | 438° - SR Py — 438° |
; . : Z .
T SR s 1 R oot | | 5058 S | o ot ot oo | Pt
] | : ] 1 L
40 — Gummigranulatpad/ Rubber pat —' 40 L Gummigranulotpad/ Rubber pat —
|

Holzklotz/Ausgleich, Dicke: 20mm
Wooden block/Equalizing, Thickness: 20mm

L— Holzklotz/Ausgleich, Dicke: 20mm
Wooden block/Equalizing, Thickness: 20mm

boensport.com



Sing leflex Verlegeplan: Blindboden
Olympla Plan for Installation: Counter floor

e s
VWand/ Wall /

BOEN

SPORT

\

Blindboden : Einteilungslehre
Counter floor: Distribution of the gauge

22—+
|
;
1
1
I

7/ A 1 A 0 g Wand/Wall/
e i Y0 Y G e e e e 240_‘_'__._
Ll Hol zbauschraube/ Screw: 4, 2x35mm / -4 -
b=
i K X K

M- M- M 1 M- M- M- M- - -r- M- 131‘ 1 '-‘1;;1
= / 97
+=-=/%0 440944000
g l
| \\K\R\R\R\R\R\R
e Leisten beidseitig oufgeschroubt/

Wooden ledge screwed on both sides
L 21 Gt )l il _§—'_“\\‘_ Blindboden/ Counter floor= 97mm
z \\ 2x Nagel/ Nails: 2,2x32mm
2
b Bei 1.Brettreihe, Blindboden ouf jedem
7/_____ 1R 2 A 1 e LD i K Doppelschwingtrdger 1x verschrouben/

IAALALL TR g R L 0 R A AR o= . H- . .

“HHHHHH+FHE=—]H T+ The first row of the counter floor are fixed
I with one screw on each swing beam.
2
IO ol | s 0 gl 2 - k=~  BOEN Sportparkett Ldnge/ Length of BOEN Sports parquet: 2200mm

Bl indbodenversatz/ Measure of displaocing: 1000mm
b=
o
— — o

e oyt sl _‘co_:
=
2 e

20

boensport.com



Singleflex
Olympia
Verlegeplan: Sportparkett
Plan for installation :Sports parquet M: 1:20

BOEN

SPORT

7  Wand/ Wall / // / 2
i rd P I 1.1\
" " Holzbouschroube/ Screw: 4,2x35mm ) 1- 2200 - 1' II
I 2200 I
I T
/ I 2200 .
/ ' 2200 '
I =1
/ F—ss0—+
—ss50—~ |
——s50—~ |
11(2||3|[4]|5]|8]|7||8]|9|fo| 11] p2| (3| [14 6| 17| 18| [19] [2al [21| [22 23| 4 R |26 [27] [28] 29| Bo| B1| [32] [33
‘;-5‘ f/—-‘“‘\"‘\ /‘
12 N || V] I I 0
-
L PE-Folie/ PE- fail 0,05 mm
Verlegeplan: Sportparkett
Plan for installation: Sports parquet
M: 1:10
2200 s
S
S5 TN Ll T T T T T T T
N\ 4B 48
24 \ 275 -

Nagel/Nails: 2.2 x 38mm

boensport.com



